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Exponents

Calculate

(0.3) 
3 

= (0.1) 
3 

= 

(1.4) 
3 

= (2.5) 
1 

= 

(0.4) 
3 

= (3.1) 
3 

= 

(0.5) 
0 

= (1.1) 
4 

= (1.1) 
0 

= 

(0.8) 
4 

= (1.9) 
4 

= (0.5) 
1 

= 

(0.1) 
4 

= (2.2) 
4 

= (0.7) 
0 

= 

(0.2) 
4 

= (1.2) 
4 

= (0.4) 
1 

= 

(0.3) 
4 

= (2.7) 
3 

= (0.7) 
4 

= 

(2.3) 
3 

= (0.8) 
3 

= (1.5) 
4

= 

(2.9) 
3 

= (0.7) 
3 

= (1.6) 
2 

= 

(1.6) 
3 

= (0.4) 
4 

= (2.6) 
3 

= 
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Answers

Calculate 

(0.3) 
3 

= 0.027 (0.1) 
3 

= 0.001

(1.4) 
3 

= 2.744 (2.5) 
1 

= 2.5

(0.4) 
3 

= 0.064 (3.1) 
3 

= 29.791

(0.5) 
0 

= 1 (1.1) 
4 

= 1.4641 (1.1) 
0 

= 1

(0.8) 
4 

= 0.4096 (1.9) 
4 

= 13.0321 (0.5) 
1 

= 0.5

(0.1) 
4 

= 0.0001 (2.2) 
4 

= 23.4256 (0.7) 
0 

= 1

(0.2) 
4 

= 0.0016 (1.2) 
4 

= 2.0736 (0.4) 
1 

= 0.4

(0.3) 
4 

= 0.081 (2.7) 
3 

= 19.683 (0.7) 
4 

= 0.2401

(2.3) 
3 

= 12.167 (0.8) 
3 

= 0.512 (1.5) 
4

= 5.0625

(2.9) 
3 

= 24.389 (0.7) 
3 

= 0.343 (1.6) 
2 

= 2.56

(1.6) 
3 

= 2.89 (0.4) 
4 

= 0.0256 (2.6) 
3 

= 17.576


